Arr()\j
A54: Inverses (of Squares and Cubes)

Notes: 26.2/26.3 Inverses (of Squares and Cubes)
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Inverses— __ SWItTCW) the x-values and the y-values. You must be careful with the
dormain and range. Inverse functions _inhent any restrictions of the original function.

Inverses Graphically — Switch the x-values and the y-values OR reflect the graph over the line y = x.
Ex #1 Sketch the inversecrelation and state the domain & range of the inverse ¢elatior:
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Ex #2 Sketch the invers@and sate the domain & range of the invers@;
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Inverses Algebraically — Switch the variables. Solve for y. Remember the “inherited” domain and range.

Ex #3 Find the inversp/f:i?aIgebraically/and state the domain and range of the inverse |2 €C
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